Quesl.

Let El = {xe]R:x;tland L]>0}
x_

and E, = {x €E, :sin™ (loge(%)j is a real number} ‘

; 5 ; 3 & 3 T 7
(Here, the inverse trigonometric function sin 'x assumes values in [—5,5])

Let f:E, — R be the function defined by f(x)=log, (Ll)

and g : E, > R be the function defined by g(x)=sin-'(logc(L)J.
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P. The range of f is it o1
Q. The range of g contains 2 10.1)
. , 1l
R. The domain of f contains 3. 33
S. The domain of g is 4.  (—o0,0)U(0,0)



The correct option is :

A)P>4:Q>2;RH>1;S> 1
B)P>3Q5>3R>6S>5
OP->4Q->2R>1;S>6
D)P>4Q>3R>6S>5
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X :
as Range of;(_—l is R — {1}

= Range of fis R — {0} or (-0, 0) U (0, =)

So, (A) is the correct option.



